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.Om:Q\.Qmwmm are BQE.B,Q,B give their answers in
their own words as far as practicable.
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1. Select the correct option for the following

questions : , ] ~ 2x10=20
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(b) PRECISis %ma:ma by :

i) _<_ A. Oon_:mﬁ:
(i) Dm:ox>cw:3

(i) G. msmnm%uew
~({v) S.R. xm:om:mﬁjm:

(c) When three aoi .y used in omﬁm_om:_sm
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__ (i) More than three Publisher

(ii)  More than three n_mnm of Publication
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(iv) None of these
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(d) Howmany links are there in Chain Procedure ?
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(i) EQmQ oﬁOo:@;ﬁmmm mcg._moﬁ Heading
(i)~ List of Subject Heading

(iii) Lincon Council of Subject Heading

(iv) None of these
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(9) OOO Is prepared by :
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(D Browne
(i) R.L.Mittal
(i) S.R. mmsomsmﬂsm:‘
(iv) Melvil Umé@ _
(h) What is written in Leading Section of Main
entry?
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(i) CallNumber
(ii) >oomwmwo: Number
(i) Book z:BUmﬂ

(iv) Class Number

(i) Inwhich <mmq>>om-m was first v:c:w:oa ?
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(i) 1959 | D
(i) 1978
(iii) 1970
(iv) 1952
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2. Whatis EU,.BQ Catalogue ? Point out the
differences between Catalogue and

() HowmanyAdded entries are therein CCC ?
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(Long-answer Type Questions)
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Answer any four questions of the following :
15%4 = 60
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3. What do you understand by Dictionary

Catalogue ? Compare between Dictionary
Catalogue and O_mm,msma Catalogue.
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4. Describe the purposes and E:o:o:w oda the
' various entries of classifi ed omﬁm_omcm
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6. Discuss the rules of choice and _d:o_m_,_:@ of :
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7. Write an essay on Chain Procedure.
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8. How 3m3< areas 9“ Main m::< in AACR __ 2
Describe with example.
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